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M-/)1)7'2  

T'5 ,G1"55.3 01)&0(% 

'-/)1)7'8 

\)(1$*$G'X)0#') (1):$%.7'2
?1'^

/)X.^

7') 
&'.5.-$7 '-/)1)7'8

5$G1)e7$0(+ ' ,'*'3 

7)$51)&)*)77$0(+ 

,#*.00= 1.-12&3

C N B D F `

DCD]CD= !$00'80#.2 6)&)1.<'2= Q0(1.Z.70#.2 $:*.0(+= G4 Q0(1.Z.7+= 1^7 O'1$%0#'8=  

"*4 P)Z()1)%.= &4 `

C M-/)1)7'2 

G)$/)(1'X)0#'Z 

%)*'X'7 

[0(.7$%#' 5$%)1$X7;) ,]�g]3° ?Y ± `h

N \.e'7; 

'-/)1'()*+7;)  

,]�C]]]3 // .3 &*2 /.*$8 e#.*; 

?Y ± ,]=E i FjC] b̂ jk3 /#/ 

:3 &*2 :$*+e$8 e#.*; 

?Y ± ,]=B i gjC] B̂ jk3 /#/ 

G&) k ̂  &*'7. 5$%)12)/$G$ 

'7()1%.*.= //

B  ?1':$1; &*2 5$%)1#' 

"G*$%;Z /)1 

,C]�C]]3°  

7. "X.0(#) ,]�±`]3l

7. "X.0(#) ,̂ g]�ig]3l

SOI Cl 

?Y m ± Bl 

?Y m ± Fl

D  J'7)8#' #$7(1$*+7;) 

%'-".*+7$^<'>1$%;) 

,]444C]]]3 // ?Y ± ,]=]N i ]=]Bjk3 //= 

G&) k ^ '-/)12)/.2 

&*'7.= //

F M-/)1)7'2 

/)Z.7'X)0#'Z 

%)*'X'7 

[0(.7$%#' 

%)0$'-/)1'()*+7;) 

7.5$*7)7'2 ' #$7(1$*2 

:.**$7$%

,C�DF3 #G ?Y ± ,]=]F�]=B3 #G 

` M-/)1)7'2 

5.1./)(1$% 

5$($#.= 1.0Z$&.= 

"1$%72= $:n)/. 

%)d)0(%

[0(.7$%#' 5$%)1$X7;) 

01)&0(% '-/)1)7'8 

$:n)/. ' /.00; 

,F]�N]]]3 &/B

,NF�N]]]3 #G 

?Y ± ,]=]D�]=]F3 o 

?Y ± ,]=]D�]=]F3 o 
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C N B D F ` 

E M-/)1)7'2 

5.1./)(1$% 

5$($#.= 1.0Z$&.= 

"1$%72= $:n)/. 

%)d)0(% 

?1)$:1.-$%.()*' 

/.G7'(7;) 

5$5*.%#$%;) ,5$ 

#.7.*" '-/)1)7'2 

"1$%72 9'&#'Z 01)&3 

,]�NF3 / ?Y ± ,C�NF3 // 

 

 

b  H.(X'#' "1$%72 

($5*'%. 

,]�`]]]3 // ?Y ± C=] o  

g [0(.7$%#' 5$%)1$X7;) ,]�C=`3 \?. ?Y ± ]=]D o   

C] p;X'0*'()*' 1.0Z$&. 

9'&#$0(' ' G.-. 

,]�N]3 /Q 

,]�CjC]`3 '/54 

,]�ND3 X 

,]�ND3 X 

?Y ± ,bqC]^B�]=CF3 o 

?Y ± C '/54 

?Y ± B] 70  

?Y ± ]=]C o 

 

CC  T)5*$0X)(X'#'=  

'-/)1'()*+7;) 

0'0()/; "X)(. 

()5*$%$8 r7)1G''= 

()5*$%;X'0*'()*'= 

#$/5*)#0;= 

%;X'0*'()*' 

#$*'X)0(%. ()5*$(; 

 

,]444ggggggggg3 YH9 

,]444ggggggggg3 YH9 

,]�ggggggggg3 Y#.* 

,]�ggggggggg3 Y#.* 

,]�CjC]`3 YH9sX 

,]�CjC]`3 Y#.*sX 

,]�CjC]`3 /BsX 

,]�CjC]`3 (sX 

,]�CjC]g3 /B 

,]�CjC]g3 /B 

,]�CjC]g3 ( 

,]�CjC]g3 ( 

,]�B]3 \?. 

,^E]�`]]3 °S 

,Bg�NBF3 I/ 

tu ,]�Cb]3 °S 

tu ,]�Cb]3 °S 

tu ,]�NBF3 I/ 

,]�N]3 /Q 

,]�CjC]^D3 Y< 

,CjC]^D�C]]]3 Y< 

,C]]]�B]]]3 Y< 

,B]]]�FC]B3 Y< 

OT C= N= B  

?Y ±  ,]=C�D3 o 

OT C= N= B  

?Y ±  ,]=C�D3 o 

?Y ± ,]=N�C3 o 

?Y ± ,]=N�C3 o 

?Y ± ,]=C�N3 o 

?Y ± ,]=C�B3 o 

?Y ± ,]=C�N3 o  

?Y ± C )&4/*414 

?Y ± ,]=C�B3 o 

?Y ± C )&4/*414 

?Y ± ,]=]F�N3 o 

?Y ± ,]=C�B3 °S 

?Y ± ,]=C�]=CF3 °S 

?Y ± ,]=]B�F3 °S 

?Y ± ,]=F�F3 o 

?Y ± ]=]B °S 

?Y ± ,]=]F�]=N3 o 

?Y ± ]=N o 

?Y ± ,]=]C�]=N3 o 

?Y ± ,]=]F�]=N3 o 

?Y ± ]=]F o 

 

CN  p;X'0*'()*' ' 

#$11)#($1; G.-. 

,Bg�NF]3 I/  

,]�]=N3 \?. 

?Y ± ,]=C�]=B3 °S 

?Y ± ,]=]F�B3 o 

 

CB O$/5*)#0;= 

#$7(1$**)1; 

,]�N]]]3 /p 

,]�C]3 #Y< 

,]�F]]]3 Y< 

F] I/= C]] I/= F]] I/ 

F] I/= C]] I/= F]] I/ 

,]�F3 p 

?Y ± ,]=]N�]=D3 /p 

?Y ± ]=C o 

?Y ± ,]=N�C3 Y< 

?Y ± ]=C °S  

?Y ± ]=C o  

?Y ± ]=]]F o 

 

   ,]�N]3 /Q 

,]�C]]]]3 Y< 

C]]]] '/54 

,^C]]�B]]3 °S 

?Y ± ]=]D o 

?Y ± ]=C Y< 

?Y ± C '/54 

?Y ± ]=]` o 

 

CD  

 

 

 

?1)$:1.-$%.()*'= 

1.0Z$&$/)1;= 0X)(X'#' 

$:n)/7$G$ 1.0Z$&. G.-. 

,]=]]`�NF]]3 /BsX ?Y ± ,N=F�F3 o  
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C N B D F  ̀

CF M-/)1)7'2 

5.1./)(1$% 

5$($#.= 1.0Z$&.= 

"1$%72= $:n)/. 

%)d)0(% 

 

SX)(X'#'= 

1.0Z$&$/)1;= 

51)$:1.-$%.()*' 

/.00$%$G$ ' $:n)/7$G$ 

1.0Z$&. 9'&#$0('= 

(.Z$/)(1'X)0#')= 

r*)#(1$/.G7'(7;)= 

"*+(1.-%"#$%;)= 

%'Z1)%;) 

,E]]�NbFF3 /BsX  

,NbFF�BD`F3 /BsX  

 

 

?Y ± ,]=C�]=CF3 o 

?Y ± ]=CF o 

 

 

 

C`  O$/5*)#0; 

5$%)1$X7;) 

,]=]N�]=C3 /BsX 

,NF]�CF]]]]]3 /BsX 

,CjC]^D�CjC]E3 /B 

,B]]]�C]]]]3 Y< 

,CjC]^B�CjC]`3 /#0  

?Y ± ]=CF o 

?Y ± ]=CF o 

?Y ± ]=CF o 

?Y ± ]=C o 

?Y ± ]=CF o 

 

CE  [0(.7$%#' 51$*'%7;) 

5$%)1$X7;) 

]̀ &/Ba gD=̀  &/Ba CN] &/B 

N /Ba C] /B  

?Y ± ]=]F o 

?Y ± ]=C o 

 

Cb M-/)1)7'2 

&.%*)7'2= 

%.#""/7;) 

'-/)1)7'2 

\'#1$/.7$/)(1; 

9'&#$0(7;) 

#$/5)70.<'$77;)  

,]�C]3 #G0s/N OT ]=]N  

Cg p.#""//)(1;= 

/.7$/)(1;= /.7$/)(1; 

&'>>)1)7<'.*+7;)= 

&'>/.7$/)(1;= 

/.7$%.#""/)(1;  

,^]=C�NF]3 \?. ?Y ± ,]=]F�D3 o  

N] 

 

T2G$7.5$1$/)1;= 

7.5$1$/)1;= (2G$/)1;= 

&'>/.7$/)(1; 

,^D]�`]3 #?. ?Y ± ,C�D3 o  

NC 

 

?1)$:1.-$%.()*'= 

&.(X'#'= '-/)1'()*'= 

/$&"*' &.%*)7'2 

#$/5*)#0; &*2 

'-/)1)7'2 &.%*)7'2= 

#.*':1.($1; &.%*)7'2 

 

M-:;($X7$) 

&.%*)7') 

,^]=C]CB�`]3 \?. 

,`]�NF]3 \?. 

Q:0$*W(7$) 

&.%*)7') 

,]�C]]]3 #?. 

,C]]]�`bgDE3 #?. 

!.-7$0(+ &.%*)7'8 

,̂ CBEbg�CBEbg3 #?. 

 

 

?Y ± ,]=]B�N=F3 o 

?Y ± ,]=]F�N=F3 o 

 

 

?Y± ,]=]B�C=CNF3 o 

?Y± ,]=]D�C=CNF3 o 

 

?Y± ,]=]D�C=CNF3 o 

 

NN M-/)1)7'2 

>'-'#$^

Z'/'X)0#$G$ 

0$0(.%. ' 0%$80(% 

%)d)0(% 

Y.-$.7.*'-.($1; p'7'*.<)(.(  

,]�C]]3 vvw 

,]�BFb3 /Gs/B 

,]�F]3 o KO?! 

c('*)7 

,]�F]3 o KO?! 

,F]�C]]3 o KO?! 

,]�C]]3 o KO?! 

?1$5'*)7 

,]444F]3 o KO?! 

,F]�C]]3 o KO?! 

P)7-$* 

,]�F]3 o KO?! 

T$*"$* 

,]�F]3 o KO?! 

c(.7$* 

,]�F]3 o KO?! 

 

?Y 51'%4 ± CF o 

?Y 51'%4 ± CF o 

?Y ± F o KO?! 

 

?Y ± F o KO?! 

?Y $(74 ± C] o  

?Y ± B o KO?! 

 

?Y ± F o KO?! 

?Y $(74 ± C] o  

 

?Y ± F o KO?! 

 

?Y ± F o KO?! 

 

?Y ± F o KO?! 
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,F]�C]]3 o KO?! 

?.1; 
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,]�F]3 o KO?! 
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,]�C]3 /Gs/B 

,C]�b]3 /Gs/B 

 

?Y ± F o KO?! 

 

?Y ± F o KO?! 

?Y ± N=F o KO?! 

 

?Y ± F o KO?! 

 

?Y ± F o KO?! 

 

?Y ± F o KO?! 

 

?Y ± F o KO?! 

 

?Y ± F o KO?! 

?Y $(74 ± C] o  

 

 

?Y ± F o KO?! 

 

?Y± N /Gs/B   

?Y±  ,Ni]=N,S Ĉ]33 /Gs/B = 

 G&) S   -7.X)7')   /.00$%$8 

#$7<)7(1.<''  /)1#.5(.7$%=  /Gs/B 

 

NB 

 

S5)#(1$/)(1; 

r/'00'$77;) 

,]=]`�BF=]3 o 

/.00$%$8 &$*' 

,]=]`�N=]]3 o 

/.00$%$8 &$*'  

?Y $(74 ± ,C]�F]3 o  

 

?Y ± ,]=]D�]=NF3 o 

/.00$%$8 &$*' 

SOI ,]=]B�]=]g3 o 

/.00$%$8 &$*' 

 

ND 
 

Q7.*'-.($1; 

1)7(G)7$>*"$1)0<)7(7;) 

,]=N�C]]=]3 o  ?Y ± ,]=C�]=E3 o  

NF 

 

T'(1.($1; ,]�C]]3 o 

,C]�C]]]3 /#G 

,C]]]�N]]]]]]3 /#G 

SOI ± C o 

?Y 51'%4 ± B o 

?Y $(74 ± B o  

SOI ± C o 

 

N`  Q7.*'-.($1; 

G)/.($*$G'X)0#') 

xyz{ 

,]�C]]]3 C]g *^C 

 

 

SOI N=F o ,xyz3 

SOI N=] o ,|z}3 

 

NE 

 

Q7.*'-.($1; /$*$#. ,g]�CF]]]]]3 

0$/.('X)0#'Z 

#*)($# 

\.00$%.2 &$*2 9'1. 

,]�C]3 o 

,]�C]3 o 

?Y $(74 ± F o  

 

 

 

?Y ± ,]=]F�]=C3 o 

SOI ,]=]N� ]=]B3 o 

 

   \.00$%.2 &$*2 

SI\I 

,`�CN3 o 

,`�CN3 o 

\.00$%.2 &$*2 

:)*#. 

,C=F�B=F3 o 

,C=F�B=F3 o 

?*$(7$0(+ 

,C]]]�C]D]3 #Gs/B 

 

 

?Y ± ]=C o 

SOI ]=]B o 

 

 

?Y ± ]=C o 

SOI ]=]B o 

 

?Y ± ]=B o 
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 M-/)1)7'2 

>'-'#$^

Z'/'X)0#$G$ 

0$0(.%. ' 0%$80(% 

%)d)0(% 

 ,C]]]�C]D]3 #Gs/B 

p1)/2 %;()#.7'2 

,b�Fb3 0 

SOI ]=N o 

 

?Y $(74 ± F o 

 

Nb p'0#$-'/)(1; ,]=N�F]]·C]`3 /?.·0 

,]=N�F]]·C]`3 /?.·0 

?Y 51'%4 ± C o  

?Y $(74 ±  B=] o  
 

Ng  Q7.*'-.($1; 

:'$Z'/'X)0#') 

O$7<)7(1.<'2 

/$X)%'7; 

,D]=]�F]=]3 //$*+s* 

,CN]�B]]]3 /Gs* 

O$7<)7(1.<'2 

G*W#$-; 

,]=F�F]3 //$*+s* 

,g�g]]3 /Gs&* 

O$7<)7(1.<'2 

*.#(.(. 

,]=F�D]3 //$*+s* 

,F�B`]3 /Gs&* 

I5('X)0#.2 

5*$(7$0(+ 

,]�N3 P 

 

 

?Y $(74 ± CF o 

SOI B o 

 

 

SOI B o 

SOI B o 

 

 

SOI ]=]F o 

SOI ]=]F o 

 

 

SOI ]=]C P 

 

B] 
 

S$*)/)1; ,]=]]�N=]]3 o 

,C=]�C]=]3 o 

?Y .:04 ± ]=]F o  

?Y $(74 ± F o  

 

BC 

 

Q7.*'-.($1; 

'7>1.#1.07;)a 

.7.*'-.($1; 5'd)%;Z 

51$&"#($% 

\.00$%.2 &$*2 

%*.G' 

,NF=]�NF=F3 o 

,N=]�F]=]3 o 

\.00$%.2 &$*2 

:)*#. 

,N=]�DF=]3 o 

\.00$%.2 &$*2 9'1. 

,BD=]�FF=]3 o 

\.00$%.2 &$*2 

#*)8#$%'7; 

,b=]�F]=]3 o 

 

 

?Y .:04 ± ]=F o 

?Y .:04 ± ]=F o  

  

 

?Y .:04 ± ]=F o 

 

?Y .:04 ± C=] o 

 

 

?Y .:04 ± N=] o 

 

BN 
 

Q7.*'-.($1; 0$*)8 % 

7)>()51$&"#(.Z 

,]�DB]3 /Gs&/B 

,]�DB]3 /Gs&/B 

?Y $(74 ± ,B�B]3 o 

ISOI ,N�`3 o 

 

BB 

 

Q7.*'-.($1; 0)1; 

1)7(G)7$>*"$1)0<)7(7;) 

,B=]�C`3 /Gs#G 

,C`�D`]]]3 /Gs#G 

,D`]]]�F]]]]3 /Gs#G 

?Y ± C=B]DC S]=̀ DD` /Gs#G 

?Y ± ]=b`gD S]=̀ DD` /Gs#G 

?Y ± C=EBbb S]=̀ DD` /Gs#G 

 

BD 

 

~1$/.($G1.>; ,]�CF]]]3 /#S/ 

,]�N]]3 /#Q 

,]�N]]3 /#O* 

,]�B3 P 

?Y ± N 7/ 

SOI 5$ %1)/)7' 

"&)19'%.7'2 ]=N o 

SOI 5*$d.&' 5'#. C=F o 

 

 

 

O$/5*)#0; 

Z1$/.($G1.>'X)0#') 

\$*217.2 &$*2 

#$/5$7)7($% 

,]=]]C]�gg=gE3 o 

 

 

?Y ± ,,]=]]NB�i]=Ng3� 

,]=C]�i]=]]]N33 o=  

G&) Z '-/)1)77$) -7.X)7') 

/$*217$8 &$*' #$/5$7)7(. 

G.-. G$1WX)G$ 51'1$&7$G$= o 

 

BF  ?1)$:1.-$%.()*' 

5*$(7$0('  

9'&#$0('   

G.-. 

,B]]�CC]]3 #Gs/B 

,`]]�CN]]3 #Gs/B 

 

,C�D]]3 #Gs/B 

 

,C�D]]3 #Gs/B 

 

?Y ± ]=CF #Gs/B 

?Y ± ]=BF #Gs/B 

 

?Y ± ]=C o $( 

5$#.-.7'8 ,5$ .-$("3a 

?Y ± ]=CF o $( 5$#.-.7'8 

,5$ 51'1$&7$/" G.-"3 
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C N B D F  ̀

B`  p*.G$/)1; 5$($X7;)  ,]�N3 o $:n)/7$8 

&$*' %$&; 

?Y .:04 ± ]=]F o 

$:n)/7$8 &$*' %$&; 

 

BE T)5*$>'-'X)0#') 

' ()/5)1.("17;) 

'-/)1)7'2 

T)1/$/)(1; 

9'&#$0(7;) 

0()#*277;) 

 

 

,^b]444^EF3 °S  ?Y ± ,C444N3 °S  

Bb  T)1/$/)(1; <'>1$%;)= 

'-/)1'()*'= 

1)G'0(1.($1; 

()/5)1.("1; 

,^b]�^EF3 °S 

,CN]]�CB]]3 °S 

?Y ± ,]=]F�C=E3 °S 

?Y ± ,C=E�B=`3 °S 

 

Bg  T)1/$0(.(; 

 

 

,^b]444^EF3 °S 

,^b]444^EF3 °S 

?Y ± ]=]F °S 

K)0(.:'*+7$0(+ 

?Y ± ,]=]C�]=]N3 °S 

 

D]  J$G$/)(1; ,^N]]444]3 °S OT C=F  

DC M-/)1)7'2 

%1)/)7' ' 

X.0($(; 

Y)7)1.($1; 0'G7.*$% 

0*$97$8 >$1/; 

C /#Y<�NF \Y< 

C] /p�N] p 

OG{C] Y<�NF \Y< 

?Y ± C·C]^` 

?Y ± ,C444N3 o 

?Y ± ,^E]�^D]3 &P 

 

   ]=]C Y<�N]] #Y< 

 

R{ lF] I/l  

F /#p�Nb=b p 

R{ l`]] I/l  

F /#p�D] p 

R{ l|�^�l  

C] /#p�b] p 

OG{ ]=]C Y<�N]] #Y< 

?Y ± ,NF·C]^̀  j � i ]=]]D3 Y<= 

G&)  �  "0(.7$%*)77.2  X.0($(.= Y< 

?Y ± C=] o 

 

?Y ± C=] o 

 

?Y ± C=] o 

 

?Y ± ,^C]`�^`b3 &P 

 

DN  �.0($($/)1; 

"7'%)10.*+7;)= 

r*)#(1$77$^0X)(7;) 

%Z4 �z{ ,]�B]]3 \Y< 

%Z4 Qz{ C] Y<�N] YY< 

u'7(4{ $( B=B 70�C]]] 0 

?Y ± ,C C]^F�N=F C]^g3 

 

?Y ± C]] 50 ,SO�3 

 

DB  T.Z$/)(1; 

r*)#(1$77;) 

,C444F3 $:s/'7 ?Y ± ,]=]C444]=]F3 o  

DD  �.0($($/)1; .7.*$G$%;)= 

%':1.<'$77;)= <'>1$%;) 

 

,DF�FF]3 Y< 

,NF�N]]]]3 Y< 

,D]�F]]]3 Y< 

 

OT ,]=N�C=F3 

?Y ± ,]=C�]=F3 o 

?Y ± ]=]C o 

 

DF  [0(1$80(%. 

0'7Z1$7'-.<'' 

0'0()/7$G$ %1)/)7'= 

1.&'$0)1%)1;4 

[0(1$80(%. 0:$1. ' 

5)1)&.X' &.77;Z 

7$/'7.*+7$) 

-7.X)7') C Y< 

ND X 

 

?Y ± F]] 70�]=B 0  

?Y ± F 0 

 

D`    [0(.7$%#' &*2 5$%)1#' 

0)#"7&$/)1$% 

,N·C]^D444DqC]F3 0 ?Y ± ,C=F·C]^̀ iT'7(q�$5 

4444N·C]^NiT'7(q�$543 0= 

G&) T'7( ̂  &*'()*+7$0(+ 

'7()1%.*. %1)/)7'= 0a  

�$54 ̂  $(7$0'()*+7.2 

5$G1)e7$0(+ $5$17$G$ 

G)7)1.($1.= $(74 )&4 

 

DE  S)#"7&$/)1; 

r*)#(1$77;) 

]=]C 0�NB X Fg /'7 Fg 0 

TZ{ ND X 

 

 

S"($X7;8 Z$& 

,]=C�gggg=g3 0 

?Y ± �,CFqC]^`qTi]=]C3 

�,BF q C]^` q T i C3� 0= 

G&) T '-/)1)77$) -7.X)7') 

'7()1%.*. %1)/)7' 

?Y ± ,g=̀  q C]^̀  q TZ i ]=]C3 0 

?Y ± ,]=F�N=F3 0s0"( 

?Y ± ,]=CiC]^D·T3 0 

 

 



 7. C] *'0(.Z= *'0( E 

 

C N B D F  ̀

Db M-/)1)7'2 

r*)#(1'X)0#'Z ' 

/.G7'(7;Z 

%)*'X'7 

[0(.7$%#'= 0'0()/; 

%;0$#$G$ 7.5129)7'2 

'-/)1'()*+7;)4 

 

[0(.7$%#' 

'-/)1'()*+7;) 

%;0$#$%$*+(7;) 

U5$0(4{ ,B]�E]3 #p 

U5)1)/4{ ,]=]C�C]]3 #p 

� 5)1)/4{ 

,]�C]3 /Q 

U� ,]�Cb]3 #p 

,./5*4 -7.X)7')3 

U� ,]�CN]3 #p 

?Y ± B o 

?Y ± B o 

 

 

?Y ± C=] o 

 

?Y ± C=] o 

 

Dg  Y)7)1.($1; 

'7>1.7'-#$X.0($(7;) 

%;0$#$%$*+(7;)= 

[0(.7$%#' 

%;0$#$%$*+(7;) 

'05;(.()*+7;)= 

Q55.1.(; 

%;0$#$%$*+(7;) 

'05;(.()*+7;)  

U5$0(4{ ,]�b]3 #p 

U5)1)/4{ ,]�CN]3 #p 

,]=]C�]=Ca F]3 Y< 

� 5$0(s5)1)/4{ 

,]�C]]3 /Q 

,C�Fgg3 0 

?Y ± ,C�N3 o 

?Y ± ,C�N=F3 o 

 

 

?Y ± ,C�F3 o 

?Y ± C=] 0 

 

F]  M-/)1'()*' 

5.1./)(1$% 0'*$%;Z 

(1.70>$1/.($1$% 

,C�`]]3 p 

 

 

 

,]=]]C�C]3 Q 

 

 

 

,DF�FF3 Y< 

,]=C�D]]]3 p( 

 

 

 

,]=]]C�Cg]]=]]]3 I/ 

?Y ± ,]=]]N q U� i C )4/413 p=  

G&) U�4 '-/)1)77$) 

-7.X)7') 0$$(%)(0(%"Wd)8 

%)*'X'7; % p 

?Y ± ,]=]]N q �� i C )4/413 Q= 

G&) ��4 '-/)1)77$) -7.X)7') 

0$$(%)(0(%"Wd)8 

%)*'X'7; % Q 

?Y ± ]=NF Y< 

?Y ± ,]=]]F q ��q U� i C )4/413 p(= 

G&) U�4 '-/)1)77$) 

-7.X)7') 0$$(%)(0(%"Wd)8 

%)*'X'7; % p 

?Y ± ,]=]]F q R� i C )4/413 I/= 

G&) R� '-/)1)77$) 

-7.X)7') 0$$(%)(0(%"Wd)8 

%)*'X'7; % I/ 

 

FC  O$/5*)#0; 

51$G1.//7$^

()Z7'X)0#') 

'-/)1'()*+7;) 

,]�NC`3 Q 

,DF�`F3 Y< 

,]�N]]3 Q 

 

,]�`]]3 p 

,DF�`F3 Y< 

,C�CN]]3 Y< 

 

,]�B`]3° 

,]=F�FN]3 p 

,]=]]C�ggggg3 0 

,]=]`�`]]3 p 

,Dg=b�F]=N3 Y< 

,]=]`�`]]3 p 

 

,]=C�C]b]]3 p( 

?Y ± ,]=]]]gq~ i 

]=]]]]gq~#3 Q 

?Y ± ,]=]]]gq~ i 

]=]]]]gq~#3 Q 

?Y ± ,]=]]]Eq~ i 

]=]]]Cq~#3 p 

?Y ± ,]=]]]]C�]=]C3 Y< 

 

?Y ± ]=C° 

?Y ± ]=F o 

?Y ± ,]=]]Cq~ i ]=B3 /0 

?Y ± ,]=]]C q ~ i 

]=]]]Fq~#3 p 

?Y ± ,]=]]F q ~ i 

]=]]]Cq~#3 p 

?Y ± ]=F o 

G&)= ~ ^'-/)1)77$) 

,%$051$'-%)&)77$)3 

-7.X)7')= ~# ^ 

#$7)X7$) -7.X)7') 

&'.5.-$7. '-/)1)7'2 

,%$051$'-%)&)7'23 

 



 7. C] *'0(.Z= *'0( b 

 
 

C N B D F  ̀

FN M-/)1)7'2 

r*)#(1'X)0#'Z ' 

/.G7'(7;Z 

%)*'X'7 

[0(1$80(%. 5$%)1#' 

%($1'X7$8 .55.1.("1; 

,]=F�NN3 /Q 

,``=`NF�C]qC]`3 /#0 

]=C Y<�C=F #Y< 

,C]�FqC]b3 '/54 

?Y ± B /#Q 

?Y ± FqC]^D o 

 

?Y ± N '/5 

 

FB  [0(1$80(%. 51$G1"-#' 

.%($/.('X)0#'Z 

%;#*WX.()*)8 

,C�EN]]3 0 

,F]�gg]3 /0 

,]=]N�D]]]3 #Q 

?Y ± B o 

?Y ± N] /0 

?Y ± B o 

 

 

FD  [0(1$80(%. &*2 

51$%)1#' ($#$%;Z 

1.0<)5'()*)8 

.%($/.('X)0#'Z 

%;#*WX.()*)8 

,]�NF3 #Q 

,Dg�FC3 Y< 

?Y ± F o  

FF  [0(1$80(%. 

'-/)1'()*+7;) 

5.1./)(1$% 1)*)87$8 

-.d'(; 

,N]�DFa FF�C]]]3 Y< 

,DF�FF3 Y< 

,]�B`]3° 

,]=]N�F]3 Q 

 

,]=N�N3 Q 

,E�E]]3 Q 

 

,]=]`�`]]3 p 

 

,]�ggg=g3 /0 

,C�gg=gg 0 

?Y ± ]=F Y< 

?Y ± ]=]]C Y< 

?Y ± ]=B° 

?Y ± ,]=]]F q~'-/)1)77$) 

i ]=]]]F q ~#$7)X7$)3 Q 

?Y ± N o 

?Y ± ,]=]Cq ~'-/)1)77$) i 

]=]]C q ~#$7)X7$)3 Q 

?Y ± ,]=]]F q ~'-/)1)77$) 

i ]=]]]F q ~#$7)X7$)3 p 

?Y ± ]=F /0 

?Y ± ]=]C 0 

 

F`  ?1)$:1.-$%.()*' 

'-/)1'()*+7;) ($#$%;) 

,B�B]]]]3 Q 

,DF�FF3 Y< 

?Y ± ,]=]]b q ~'-/)1)77$)i 

]=]]Nq ~#$7)X7$)3 Q 

 

FE  S()7&; SOS ` ,]=]NF�N]3 /Q 

,FC=]�`EB=B3 I/ 

,]=B]FCÈ �C]]]]3 Y< 

?Y ± ,C�B3 /#Q 

?Y ± ,]=]CF�]=]̀ E3 I/ 

?Y ± ]=]]B o 

 

Fb I5('#$^

>'-'X)0#') 

'-/)1)7'2 

J'7)8#' 

0#'.0#$5'X)0#') 

,^Cg�Cg3 &5(1 ?Y ± ,]=CN�]=b3 &5(1  

Fg !)>1.#($/)(1; ,]�bF3 o y��� ?Y ± ]=]B o y���  

`] c*)/)7(; 

'-/)1'()*+7;Z 

0'0()/ 

S'0()/; 

'-/)1'()*+7;){ 

   

 $:n)/7;8 1.0Z$& G.-. ,NCN]]�BBDD]]3 /BsX 

,`]�Cg]]3 /BsX 

?Y ± C=F o 

?Y ± C=] o 

 

  M-/)1'()*+7;8 #.7.* 

$:n)/7$G$ 1.0Z$&. G.-. 

,]�Cg]]3 /BsX ?Y ± ]=D o 

 

 

  M-/)1'()*+7;8 #.7.* 

1.0Z$&. 

,]�DC]]]3 /BsX ?Y ± ,]=N�F3 o  

 

 

  M-/)1'()*+7;8 #.7.* 

5*$(7$0(' G.-.  

,b]�N]]3 #Gs/B 

 

?Y ± ]=g o   

  M-/)1'()*+7;8 #.7.* 

'-:;($X7$G$ &.%*)7'2 

,]�`]3 \?. 

,]�C`3 #G0s0/N 

,^]=EDE�]=EDE3 #?. 

?Y ± ,]=BC�N=bC3 o  

?Y ± N=EF o 

?Y ± N=BE o 

 

  M-/)1'()*+7;8 #.7.* 

5)1)5.&. &.%*)7'2 

,̂ ]=]F]�C]]]]]3 #?. ?Y ± ,]=BC�b=Bb3 o  

  M-/)1'()*+7;8 #.7.* 

()/5)1.("1; 

,^CF]�B]]3 ºz ?Y ± ,]=N�C=bF3 ºz  

  M-/)1'()*+7;8 #.7.* 

"1$%72 

 

,]�N]3 / 

,^]=NF]�]=bEF3 / 

?Y ± ,N=F`�DDE=b]3 // 

?Y ± ,CN =̀Cg�Cg]=̀ ]3 // 

 

  M-/)1'()*+7;8 #.7.* 

0'*; 5$0($277$G$ ($#. 

$( D &$ N] /Q 

,D�N]3 /Q 

 

?Y ± ,]=N]�]=D`3 o 

 

 



 7. C] *'0(.Z= *'0( g 

 

C N B D F  ̀

 c*)/)7(; 

'-/)1'()*+7;Z 

0'0()/ 

M-/)1'()*+7;8 #.7.* 

%$051$'-%)&)7'2 

.7.*$G$%;Z 0'G7.*$% 

$( D &$ N] /Q 

,]�C]]3 o 

,D�N]3 /Q 

?Y ± ,]=NC�]=DF3 o 

?Y ± ]=FE o 

 

  M-/)1'()*+7;8 #.7.* 

&$%-1;%$$5.07;Z 

#$7<)7(1.<'8 G$1WX'Z 

G.-$% % ($/ X'0*) /)(.7 

' /)(.7$*  

%$&$1$& 

&'$#0'& "G*)1$&. 

,]�F]3 o KO?! 

,F]�C]]3 o KO?! 

 

 

,]�F]3 o KO?! 

 

,]�B]3 o 

?Y ± ,b=Eb�g=`F3 o 

KO?! 

?Y ± ,CE=FF�Cg=NF3 o 

KO?! 

?Y ± ,b=DF�C`=bg3 o 

KO?! 

?Y ± Cg=ND�DN=CF3 o 

 

  M-/)1'()*+7;8 #.7.* 

%*.G$0$&)19.7'2 

,]�N3 o 

,N�D3 o 

?Y ± ]=C] o 

?Y ± ]=CF o 

 

 M-/)1'()*+7;8 #.7.* 

%$-&"e7$G$ -.-$1. 

,]=C�`3 // ?Y ± B=]F o  

`C  S'0()/; '-/)1)7'8 

#$*'X)0(%. ' 

5$#.-.()*)8 #.X)0(%. 

7)>('= G.-. ,SMOK= 

SMOY= SMOKY3{ 

   

  $:n)/7;8 1.0Z$& G.-. ,NCN]]�C]Ng]]]3 /BsX ?Y ± ,C�C=F3 o  

  /.00$%;8 1.0Z$& G.-. ,CEBFF�bED`F]3 #GsX ?Y ± ]=` o  

  /.00$%;8 1.0Z$& 7)>(' ,Ng�CN`]3 (sX ?Y ± ,]=NF�]=BF3 o  

  5*$(7$0(+ 7)>(' ,E`]�g]]3 #Gs/B 

,B]]�CC]]3 #Gs/B 

?Y ± C=BF o 

?Y ± ]=B #Gs/B 

 

  /.00$%;8 1.0Z$& 7)>(' ,Ng�CN`]3 (sX ?Y ± ,]=NF�]=BF3 o  

  '-:;($X7$) &.%*)7') 

7)>(' 

,]�C`]]3 #?. ?Y ± ]=NF o  

  ()/5)1.("1. 7)>(' ,]�EF3 ºz ?Y ± ]=B ºz  

  %*.G$0$&)19.7') 

7)>(' 

,]�C]3 $:4 o ?Y ± ,]=C�]=N3 o  

  M-/)1'()*+7;8 #.7.* 

$:n)/7$G$ 1.0Z$&. G.-. 

,C`=F�`N]]3 /BsX ?Y ± ,]=D�]=FF3 o  

 M-/)1'()*+7;8 #.7.* 

5*$(7$0(' G.-. 

,C�D]]3 #Gs/B ?Y ± ,]=C`�]=g3 o   

 M-/)1'()*+7;8 #.7.* 

5*$(7$0(' 7)>(' 

,B]]�CC]]3 #Gs/B ?Y ± ,]=B�]=`3 #Gs/B  

  M-/)1'()*+7;8 #.7.* 

&.%*)7'2 

,^]=C�B]3 \?. ?Y ± ,]=NB�]=F3 o   

  M-/)1'()*+7;8 #.7.* 

5)1)5.&. &.%*)7'2 

,]�C]]3 #?. 

 

?Y ± ]=Nb o   

  M-/)1'()*+7;8 #.7.* 

()/5)1.("1; 

,^F]�NF]3 ºz ?Y ± ,]=NF�D=C3 ºz  

  M-/)1'()*+7;8 #.7.* 

"1$%72 

,]�E3 / 

,]�B=b3 / 

?Y ± ,E�CEC=]F3 // 

?Y ± ,C=C�N=B3 o 

 

  M-/)1'()*+7;8 #.7.* 

&$%-1;%$$5.07;Z 

#$7<)7(1.<'8 G$1WX'Z 

G.-$% ' 5.1$% 

,]�C]]3 o KO?! ?Y ± ,F=C�CC=F3 o 

KO?! 

?Y ± C]=C o '-/4 

%)*'X'7; 

 

  M-/)1'()*+7;8 #.7.* 

/.00$%$G$ 1.0Z$&. 

7)>(' 

,Ng�C]C`D3 (sX ?Y ± ,]=NF�]=BF3 o   

  M-/)1'()*+7;8 #.7.* 

$:n)/7$G$ 1.0Z$&. 

7)>(' 

,]�CB3 /BsX ?Y ± ,]=`�F=]3 o  

  M-/)1'()*+7;8 #.7.* 

1.0Z$&. 

,]�N]]]]]3 /BsX 

 

?Y ± ,]=b�F=`]3 o 

 

 



 7. C] *'0(.Z= *'0( C] 

 

C N B D F  ̀

 c*)/)7(; 

'-/)1'()*+7;Z 

0'0()/ 

M-/)1'()*+7;8 #.7.* 

$:n)/7$8 &$*' %$&; % 

7)>(' 

,]�C]3 o ?Y ± ,]=]`�]=CC3 o  

 

 

  M-/)1'()*+7;8 #.7.* 

()/5)1.("1; ($X#' 

1$0; G.-. 

,^`]�N]3 ºz ?Y ± C=C ºz  

`N  S'0()/; "X)(. 7)>(' % 

1)-)1%".17;Z 5.1#.Z{ 

   

  %/)0('/$0(+ 

1)-)1%".1. 

N]]]] /B ?Y ± ]=C o  

  /.00. :1"(($ 7)>(' ,EF]�C`N]]3 ( ?Y ± ]=F o  

  /.00. 7)(($ 7)>(' ,EDC=D�C`N]]3 ( ?Y ± ]=` o   

  M-/)1'()*+7;8 #.7.* 

5*$(7$0(' 7)>(' 

,EE]�g]]3 #Gs/B ?Y ± ]=]N o  

  M-/)1'()*+7;8 #.7.* 

G'&1$0(.('X)0#$G$ 

&.%*)7'2 7)>(' 

,]�CF]3 #?. ?Y ± ,]=]F�]=C3 o  

  M-/)1'()*+7;8 #.7.* 

()/5)1.("1; 7)>(' 

,]�C]]3 ºz ?Y ± C ºz   

  M-/)1'()*+7;8 #.7.* 

"1$%72 

,]�N]]]]3 // ?Y ± ,C�B3 //  

 

BFb]]]= !$00'80#.2 6)&)1.<'2= !)05":*'#. O.*/;#'2= G4 c*'0(.= "*4 '/4 K$/($ IX'1$%.= &4CB 

 

`B S1)&0(%. 

'-/)1)7'8 

/)&'<'70#$G$ 

7.-7.X)7'2 

c*)#(1$#.1&'$G1.>;= 

r*)#(1$#.1&'$0#$5;= 

r*)#(1$#.1&'$.7.*'-.^

($1; 

pZ$&7$) 

7.5129)7')  

,^C]444`]3 /p 

 

[1$%)7+ 0)G/)7(. �}  

,^]=D444C=]3 /p 

�"%0(%'()*+7$0(+ 

C=NFa N=Fa Fa C]a N]a 

D]a b] //s/p 

 

 

?Y ± ,NF444F]3 /#p 

 

?Y ± ,NF444F]3 /#p 

 

?Y ± B o 

 

 

 

 

 

           H'1)#($1      P4Q4 H$1&9')% 
&$*97$0(+ "5$*7$/$X)77$G$ *'<.  5$&5'0+ "5$*7$/$X)77$G$ *'<.  '7'<'.*;= >./'*'2 "5$*7$/$X)77$G$ *'<. 

 
 


